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HEEE | 2EKKRE | SERKRE | FHUTE HIEE | 2EARE | LEARE | FHISE

X = i 74 52 17 5 88 65 21 2
% = = i 101 63 26 12 97 70 26 1
3 = i 110 62 38 10 115 Al 40 4
#® & = i 72 38 26 8 63 37 23 3
i % i 68 38 22 8 75 43 28 4
B = i 131 81 41 9 142 95 42 5
23] = i 13 6 5 2 14 10 4 0
E = i 35 24 9 2 39 28 10 1
T % i 191 115 62 14 218 135 72 11
R 5 b2} I % B 56 31 21 4 58 33 19 6
= = &0 50 25 15 10 63 36 18 9
RvFry7ods5La—2R 3 3 0 0 6 4 1 1
& = i " M x 11 6 3 2 9 6 3 0
® % 2 B " H = 11 7 2 2 13 9 4 0
% B it 926 551 287 88 1000 642 311 47
#HEXERFEHFRE (FAH) 41 21 18 2 40 24 14 2
ZBEEHRHB CE ) 31 20 9 2 33 22 9 2
REFHFRHCE NG 9 6 3 0 9 5 4 0
EEEFREFRE (B I) 8 2 3 3 6 2 3 1
EHEFHRATRB(BLETH) 16 9 6 1 15 8 5 2
ﬁ%%ﬂf?ﬁﬁ%‘iﬂ(%igﬁ}i% 4% 28 15 3 43 2 10 4
BRHEHRH( Tii g gﬁ% 134 78 4 15 136 92 39 5
ﬁ?’.iﬂiﬁﬁ%"ﬁﬂ(’r%igﬁ}i% 0 0 0 0 0 0 0 0
BREFHFRM (E & H) 0 0 0 0 0 0 0 0
RESEaNERRY (BLaTd) 50 28 17 5 58 34 23 1
KEREL (BLATH) FE D5t 335 192 112 31 340 216 107 17
#HEXEREFRE (B &) 10 8 1 1 7 6 1 0
REFFRH (E & H) 1 0 0 1 1 1 0 0
EEEFRLRAFARHB(—E) 60 21 25 14 50 21 22 7
EHEFRATRBN(BLERH) 10 4 4 2 8 4 3 1
BERABEHRER (BL&H) 40 32 6 2 42 35 4 3
BEARAMZEHRBM(5E B H) 12 11 1 0 9 8 1 0
BRREFHFRHY (E % ) 2 1 1 0 1 0 0 1
RESEaNEHARAB (B RE) 32 21 10 1 42 26 14 2
KERELT (BLHRY) FE DEt 167 98 48 21 160 101 45 14
& % B EA 7l 21 12 3 6 21 14 6 1
% = % B EA 7 6 2 3 1 4 1 3 0
7 M OB ¥ xR BN E 27 14 6 7 25 15 9 1
PN = 53 it 529 304 166 59 525 332 161 32
HAXEBEZERNEXH 2 0 0 2 0 0 0 0
xE % % o&m % A A #H 0 0 0 0 1 0 0 1
& it 1,457 855 453 149 1,526 974 472 80




